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Requirement 1

Date Accounts and Explanation Debit | Credit
Dec. 31 | Sales Revenue 1 696,000
Interest Revenue 5,000
Income:Summary 701,000
Dec. 31 | Income Summary 466,200
Sales Returns and Allowaiices 39,200 }
Sales Discounts 9,000
Cost of Goods Sold 385,000
Rent Expense 21,000
Depreciation Expense—Building 12,000
Dec. 31 | Income Summary 234,800 |
Rockwell, Capital 234,800
Dec. 31 | Rockwell, Capital 61,000
Rockwell, Withdrawals 61,000

Requirement 2

Ending Balance in Rockwell, Capital is $382,600 ($208,800 + $234,800 — $61,000)

CAROLINA COMMUNICATIONS
Income Statement

Year Ended July 31, 2015

Sales Revenue

Less: Salés Returns and Allowances
Sales Discounts

Net Sales Revenue

Cost.of Goods Sold

Gross Profit

Operating Expenses:
Selling Expenses
Administrative Expenses
Total Operating Expenses

Operating Income

Other Revenues and (Expenses):
Interest Expense
Total Other Revenues and (Expenses)

Net Income

$-40,000
7,200
4,800
$ 28,000
18,000
10,000
1,000
2,500
3,500
6,500
: (30).

_$ 6,470




Chapter 6

mmmmmmofmwmuwm Putier's uyes the avemge-cost meted and
& perpeiual inven'ory sysiem. Saies price of each putter is $144; Company records indicata the bﬂvmqbta

patticular ind of Putter paradiss putters;
. Date: Rem Quantity Untt Cost
Sep ! Balane 4 $63
8 Sale 2
b Purchase. ] 17
1 Saia 4
2 Purthase 2 $75
ki) Sae 2
Requirements

" 4, Prepore perpetial inventory record for the puters using i avernge method.

Beg 4%563 = €252
Sep, 6 = 27553 © 8126 - 27563 = $126 _
Sert, 6 3°574 = 5592 10°571.8= $718
{Sed 17 - - A°S71.8=5187 6°571.83 5481
Sept, 23 2°575 =$150 8°572.69 = $581
0 . - 2957285 5 5143 67572.63 = 5436
Total 30 'Si42 ] $558 [} "$435
~ Accoun Deblt- | Credit
| Sept, 6© | A/R or cash 2°5141 1 282
Sales Revenue: ) - 282
_COGS 126 )
“Inventory ) 126
JEREIRIEL ;_,g wafmﬁ, ¢’m.x,4 vq““f"’i* A, FRFTRN R ’f:“, P R T
Sept,8 Inventory . 592 |
_1___A/Porcash 1592
N ..Qﬁw.ﬁﬁ\%‘ﬁ?ﬁfﬁﬁﬁﬁ”@xﬂ* ¢ R i Ese)
| Sept, 17 | A/Ror Cash 4*5141 .564
' " |~ .Sales Revenue 564
' -COGS: 287
__Inventory ] 287
e SRR T Ty, "‘7" R e pr T Fe o i‘bt PR Y ¢~‘"1 e
‘Sept, 29 Inventory 150
{  AfPorcash 4 ‘150
Eiﬁffﬁ{%" R R e o S A R AT (o S A aths :““1"1?‘:5\» SRR
.5ept, 30 A/R or cash 2¢$141 282.
._.-Sales Revenue. 282
.COGS 145
Inventory 145
.End.lmmtotv = 3436
“sules Revenut (A°5141) 151,128
C0GS 3558
Groas Proft (S1,128-5858) 15570




E6-21, cont.
Requirement 2

Using LIFO; cost of goods sold is $268, énding merchandise inventory. is $96, and gross profitis $172.

®) Calculated in Requirement 1.

Calciilations:
‘P.lirchases Cost'of Goods Sold Invertory on Hénd )
] Unit Unit “Unit
Date Quantity | Cost Total Cost | Quantity. Cost. Total Cost Quantity Cost Total Cost
Dec. 1 13 units [x$11 [=$143 } |
' : | 3 143:
8 | Yunits | x$ 11 =$ 99 }_ $ 99 4units | x$11 =3 44 } $ 44
14| 17units {x$13 |= $221 4 units | x $ 11 =$ 44 } $ 265
: 17 units | x§ 13 =§ 221
21 Bunits [x$13 [=8169 4units |x$11 [=$ 44 } ,
| | } $19 | yunits |xs13 [=5 50 J 59
Totals | 17 units $221 | 22 units $268 8 units ‘ $ 96
Sales Revenue ® $ 440
Less: Cost.of Goods Sold 268
Gross Profit $ 172



P8-26A )
Requitement 1

WINCHESTER HEALTHCARE
Bank Reconciliation
August 31, 2015
BANK BOOK
Balance, August 31, 2015 $ 4;870 | Balance, August 31, 2015 $2,900
ADD: S ADD:
Deposit in transit $ 350 EFT collection on account $ 1,300
'Bank etror 1,000 1,350 | Dividend revenue 970
6,220 | Interest revenue 80 2,350
LESS: - 5250
Outstanding checks
Check No. 237 $ 50
288 170
291 520 LESS:
294 580 NSF check #1 400
295 50 NSF check #2- 110
296 140 1,510 | Service charge 30 540
Adjusted bank balance, Adjusted book balance, ’
August 31,2015 $4,710 | August 31, 2015 $4,710
Requirément 2
Date Accounts and Explaration Debit | Credit
Aug. 31 Cash - 1,300
' Accounts.Receivable 1,300
To record EFT collection on account
Aug. 31 | Cash 970
Dividend Revenue 970
To record dividend révenue
Aug. 31 |Cash 80
Interest Revenue 80
To record interest revenue
Aug.31 | -Accounts Recéivable ($400+ $110) 510
Cash 510
To record NSF checks
Aug.-31 | Bank Expense 30
Cash 30
To record bank service charges incurred.




Chapter 10

Oalmwyl. 2011, Hudi Company purchssed in cash an equipment for $230.000, The equipment
costs Hoda $3,000 for transpartation and $2,000 for instaflation, all of which were paid in cash. The
estimsted residoal yabue is $23, 000 and the nnmaledusafu! ife i Syan The companyused the
steaight-line depreciation metbod for ll plant assets but i considéring changing 1o the dooble.

ectining balance method,

1. Prepars )m.m.l anitry to record the purchase ¢f the equipment;
2 Prepare the deprociation schédide using Doubly Declining method for the first three

yoars only,

3, Prapara tha tequired Joumal entés for depieclation for the years 2011 end 2012,

+
PR

Req.1
Accoun't Dehit Credit
Equipment ] 235,000
Cash- 235,000
Req.2
yeclliligMethor z?mm TRER TR
Accumulated Depreciation |  Book IValuel
dan, 1, 235,000
2011, )
‘F;f;c' '94,000. 94,000 141,000
2011
D;f' 56,400 150,400 84,600
'»201'2
9% 33,840 184,240 50,760
2013
Req. 3
Account Debit Credit
Dépreciation exp 94,000
Accumulated DepreCIatlon 94 000
e R e O S e
Depreclatlon exp . 56,400 |
... Accumulated Depreciation 56,400

E o




' Req!irem“e_nt 1

a.

C.

Straight-line

Depreciation per unit

Units-of-production

Double-declining-balance

Requirement 2

i

o Honn

o

oo

oo

(Cost — Residual value) / Useful life
($46,000,000 —$6,000,000) / 8 years
$5,000,000 per year

(Cost — Residual -value) / Useful life in units
($46,000,000 ~ $6,000,000) / 5,000,000 miles
$8 per mile

Depreciation per unit x Current year usage
$8 per mile x 1,300,000 miles
$10,400,000 in year 1

Depreciation per unit x Current year usage
$8 per mile x 1,000,000 miles
$8,000,000 in year 2

(Cost — Accumulated depreciation) 2 x (1 / Useful life)

($46,000,000—80) x 2 x (1/ 8 years)
$11,500,000 in year 1

(Cost — Accumulated depreciation) x 2 x (1 / Useful life)

(846,000,000 - $11,500,000) x 2 x (1/ 8 years)
$8,625,000 in year 2

Depreciaﬁdn Expense— year 1 |
Depieciation Expense — year 1

Total Accumulated Depreciation

N

Units-of- Double-declining-
Straight-line production balance
$ 5,000,000 $-10,400,000 $ 11,500,000
5,000,000 8,000,000 8,625,000
$10,000,000 - $18;400,000 = . $20,125,000

Straight-line.

I

(Cost — Residual value) / Useful life x (Number of Months / 12)
($40,400 — $2,000) / 4 years x (5/12)



X Total = Assigned

Market Purchase Cost of
Asset Value Percentage of-Total Value Price Each: Asset
Lot 1 $ 70;500 $70,500/$470,000=15% x $210,0000 = $ 31,500
Lot 2 235,000  $235,000/$470,000 =50% x $210,000 = 105,000
Lot3 164,5000  $164,500/$470,000=35% x $210,000 =_ 73.500
Total _-$ 470,000 100% $210,000
Date Accounts and Explanstion - Debit | Credit ]
' Land—ULot 1, o ' 31,500 /
Land—1Lot 2 105,000
Land-—Lot 3 73,500 ;
Cash ‘ 210,000
To record purchase of lots for cash.




_Date Accounts and Explanation Debit | Credit
2014 B o
May 1 | Equipment. 17,000 |
Notes Payable 17,000
| Purchased equipment in.exchange for one year,
6% note.
Dec.-31 | Interest Expense ($17,000 x 0.06 x 8/12) 680
Interest Payable 680
Accrued interest expense at year-end.
2015 :
May 1 | NotesPayable 17,000
Interest Expeénse ($17,000 x 0.06 x 4/12) 340
Interest Payable 680 |
Cash 18,020
Paid hote and.interest at maturity.
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“-"1. i % "y#"\\*,,nwu-*wl-\'w-'/vv,ﬁ 3V T“ tr'\.::g o T S ,u,‘-....,.,

‘Managerial Accounting, p;%q'es,g ormation to;
A) internal-décision makers.
B) ouitsidé irivestors and lenders.
C).auditors:
D) taxing authorities.
Answer: A

AR T A Ry 2 RIPLT A Y U TS ST SR S A PERAF e vk et _-_:')m-g}
h

e e oj{abcountmgthat, attses.on. T PrOVIAING TfOrmAtinT: fOF EXternaldecislOn fi erslis:
A) managerial accounting.

B) financial accounting.

C) cost accounting.

D) nonmonetary accounting,

Answer: B

’“_.'r"

Ty, v T WS T B e e

'provna 'Ef%rmabon for mter;naLdems;on makers:isi

e n sOirt ity L

AL e
e fik dxof accountmg»

A) managerial accounting.

B) financial accounting.

C) nonmonetary accounting.
D) governmental accounting.

Answer: A

B I e T T T N M T T G Gy

ﬁmuéﬁof .the; ollowxngmsers&qqld»relyéon’managemenf’accountmgnnf ormationifor:decision:making:p \ﬁ ‘§

A e ety

A) potential investors
B)-creditors

'C) customers
D)-.company managers
Answer: D

ln" Mﬂ:‘;‘,,‘.‘gﬂ A R T B A S RINY ‘igﬁ ;x:q--m"‘\nﬂv.-.u-“sn NIREO L Trgw

) OB SO Vg, 1A T Al et O & b Sase nAnCia IREOHDALORE
A) customers

‘B) cost accountant

C) company manager

Gy

D) the board of directors

Answer: A

rrmrectp n.y:r(n:v i, ‘fr.r,mw ZEW, v'v*- RN S o e ey sy T CAT ]
6);:7 ;are,pggfg§§1p;3“)’°acﬁpu ntantsiwho: sezye,‘thve;,genera partlcul'ér!compénfr

A) Cértified public accountants
B) Certified ,manag_e_m.ent accountants
C) Cost accountants

D) Controllets

Answer: A

Pl seni sl -—-~r-¢-w- T T S T U T D, R S I «.wn T A T T B Ty

Wi O E IR OlIOWIng STeaniZations 18 responsIble or e creation Andl oV ernAn e BT Soet

United States?

A) Financial Accounting Standards Board

B) Institute'of Management Accountants

C) American Institute of Certified Public Accotintants
D) Securities.and Exchange Commission

Answer: A

m:“ﬁ%‘standa'rdsjiﬁ the
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L&)ﬁ&lﬁé_{imt}\e tfiiles-that. it.govern, accoﬁntmg _in;th’ ) f; ted: States’ ’fh :
A) Globally Accepted and Accurate Policies.

B) Global Accommodation Accounting Principles.

C) Generally Accreditéd Accouniting Policies.

D) Generally Accepted Accounting Principles.

Answer: D

GAAP 2 .in! wl‘s»statement refers to:

oo et Wy

--n*.‘;:_':ﬂ.mm‘.-{m'\nwz-- T, 4~¥: -»r"swwt—-,.hru; Ty v wel O ,.\z“'"ﬂ*"‘\ [ "r\-ﬁ

.-.z-‘m:the;m‘g‘qﬁ'réa’h tsghould‘he Yecordediat the amount.actu ’ll);- aid. rather.tha

iy fre e rai iy oy Fpoed

rNTNYY {'.ﬂ) Yy ’\N"'&"""‘.
AT dﬁ t0 thes

9 A
i zé'vgm‘»a:
A) gOmg concen assumption
B) 'économi'c eniity concept

D) monetary unit assumption

Answer: 'C
Her3geve 3h (el ‘.~_ 4 : sotiry J LTSNy Y IR 33 SRS LIS IR T 5:3.‘#3"-9-&1 f.‘;"'t'm,
ToyAsipe ?’th (RN T itity: will femain in‘operation:for:the: fér'eseehble future;

A) economicentity concept
B).monetary unit assumption
C) going concern assumption
D) cost principle

Answer: C

h@'i.!q‘,f-t_:vil::j«

rim&"\:‘;ﬁqr> !‘-{aﬂ

a ‘:r 4 'v\-v’ s " -p_‘“__.‘
11} joshiast ST puteR hard WaTeTTouha e ;
YL o “ Lo A1 1202 v =
2 e EArds giftfor His dauphier: & i aid t r arningSof e
books: b'fINe;us asian assetzWhich of the'folfo oncepts ok prmcxples‘of accouqtmg i3 Joshua‘ olat g?

A) monetary.unit assumptxon
B) economic entity assumption

C) cost principle

D) going concern assumption

Answer: B

igﬁ’-‘{?ﬁi’ﬂ%"”""ﬂ"" 185,000 Fromits s tomer Wiich was swed sida Ogsihis atfectihe
accouritingiequation Shhe business?

A) Assets increase by $5,000; liabilities decrease by $5,000.

B) Assets increase by $5,000; assets decrease by $5,000.

C) Assets increase by $5,000; liabilities increase by $5,000.

D) Assets increase by $5,000; equity increases by $5,000.

Answer: B

LR B D e e B L T R S
i o E‘hﬂi‘ fwls dliing theyear!

Asiet] Lisbilneg € = - s coo

Béginning:of year $425,0000  $280,00q 14S 00 Be 01 £ ,

End of year 500,00 325,000 15,000 +

. X =7

What was the amount of net income for the year? NL

A) $75,000 - -

B) $45,000 w ithdrowal 0
Q}so,ooo —
D) $120,000 — | JS 006

Answer: C ' +nd g



16) Calculate the riet income.
A) $20,600

B).$11,900

C) $12,200

D) $24,100

Answer: A

Rey. - tap

T e e U S, i st o e
17 Fhe amountof Netincome s transferr 6d oM e b T )

A) the income statement; the statement of owner's equity’
B) the balance sheet; the statermient of cash flow'

C) the balance sheet; the income statement

D) the income statement; the statement of expenditures
Answer; A

§ Tealeteary e

I T sy T LN S

equiltys

A) statement of owner's equity
B) statement of cash flows

C) incone statement

D) balance sheet

Answer: D

A
- >

Sk

F?:‘lfé’f{&?f’”glé”an"éw?eﬁf?é”’t“b‘éf‘au“?eﬂsj%ﬁ@oi&o%%%“érﬁ‘é“é'aag_fbé'ée'rﬁber51
Accounts feceivable $5,000 A

Accounts payable: 4,000 v

Salary expense 5,000 £

Repaiis expense 1,000 ¥

Truck 10,000 &

Equipment 8,000 A

Notes payable 8,200 -

Cash 7,500 A

Supplies expense. 1,600 &

Service revenue 32,000 £=

Gasoline expense. 3,800

Salary-payable. 200\

14) At the end of the jear, what is the amourit of total assets?
A) $15,000

B) $30,500

C) $18,000

D) $25,500

Answer: B

15) At the end of thé year, what is the amount of total liabilities?
A) $12,400 - ’

B) $24,100

C) $21,200

D) $12,200

Answer: A

-

N e LRy T,
findneial staterents repbrts At o ml skt g ST T g

Bt SCow Ao e tes S RN

ofithe

oAt ey D et gk Ay
first:year.of Gperation?

TR RN e s 11
plisHotalowner s
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19)7 055 Settlboar a habxhgy i

;af-‘)~ . ‘Wg‘!‘v ﬁﬁ‘di"

equation;of thebusiriess?

'A) Asséts decrease; liabilities decrease.
B) Liabilities decrease; equity increases.
C) Assets increase; liabilities increase.
D) Assets increase; equity decreases.
Answer: A

YT A e
siness'recelves ;11 ‘fromione o‘fﬁats suppliersifo
tof ‘

. fowdbes»the,recap“ *glj:'e.p:il_l,;f;;o"ﬁvﬁ\ea,sijpbl

'~L Erpge m iotoan g !lm“w»,"*"* VD PR A T T
servxcesmecel

AT

iVed:s

2o ~-e¥m YR

sThet USII'l

';a u ),

Affacitt the: acgoﬁntmg equatxo

A) Assets decrease; equity decrease.
B) Liabilities incréase; equity decrease.
C) Assets increase; liabilities increase.
D) Liabilities increase; equity increase.
Answer: B

Y
AR

oft e u

i e s.«. Eehrde A

akiig:a:.payment:ir; “cashiHow.d 1668 pay pay “gg mlshabxhty‘affect 'che,acc:o'.liitix'%z
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T, nex;é
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Chapter 2

TS RS e B BT e
A) Servxce Revenue
B) Building

C) Accounts Receivable
D) Unearned Revenue
Answer: D

.u,‘%”’r

a(n):

2)Ariamount owedbutnon paid 18 call
A) prepaid expense.

B) adjusted liability.

C) accrued liability:

D) note receivable.

Answer: C

M R b T e s

Y Wnich o AN W e AP
A) équity

B) asset

C) liability

D) revenue

Answer; A

) WRIChIOED d%fgﬁ%%géfgg&%ﬁecrgge? Wit & debit?
A) Accounts Receivable

B) Notes Payable

C)-Cash

D) Land

Answeér: B

~v‘x"zf_;" AL 7"1'&:"§2}

Agrsaan ey (E T G Y e L TR N D 43 (e e gy
Eﬁvz_have al eredlt‘balance

A S T ey
A) assets.and liabilities

B) capital and assets

C) liabilities'and owner's equity

D) assets and expenses

Answer: C
R T RN R e e )
A) assets and expenses. I

B) reventiés-and expenses

‘C) liabilities and owner's equity
D)-assets and liabilities:
Answer: A

RIKH 2 X Y g SO e 4 LR TR

TrAfterinitiallyiré c.ordmgfa’
A) chart of accounts.

B) ledger.

C) trial balance.

D) journal.

Answer: B

SO YA S (st S ey 1y v*.;f- BARED:
actlon,wthe da___,_ihe ifiansferredi tathe:

N pabn A E




W TR R TR ot

8)~The ac&Mhng?rocess of'-’tragsfemng a; txansactlon from; the ]oumal tothe: ledger JEX <:aillm;e'£1'§

A) journalizing.
B) posting,
C) compounding.
D) sourcing,
Answer: B
§S‘A bu“sni%%ggvﬁzjc‘}gasggﬁﬁoo of"bff ceer.{fpgl}_gs for cast{,::l'c’ﬁ*?gﬁﬁ{e fSIIGWu’fé“ ge’f‘s?;fml.éanger Zé”égun fdfgctip é
" osting “! _;ﬁus(tr‘é"‘n’sachon?
A) Office Supplies Accounts Payahle 'SUP P be % Ta
’ 3,500 [3.500 C,msh YA
B)
Office Supplies Cash:
|a.500 3,500
0
Office Supplles Accounts Payable
3500 3,500
D)
Office Supplies Cash
3,500| 3,500
Answer: D

"»r**m.ris_n.»«wm s

10) ), SAndra; 1xgv‘ést9s$40 {)00
follc;'v“i“ et 'KCCQ tsﬁ"ﬂulbe i
A) Accounts Receivable Cor sh 15 -
B) Cash o] 1€
C) Sandra, Capital Capitor

D) Accounts Payable

Answer: B

J{i; \1;."&,-«. o e ’4‘\‘ "'"v‘"-' ﬂ'{w n- o rn. "t"’ Yy »_g}g*wmww r,nthpg’z

%lusmess-bxﬂeposmng thgcash;n% sme? %n hccountwwgpcﬁso

-

"a'\*’r‘"f\”{ ““.\a e ":ipﬁ" e "'J"g‘«-ﬁ(rr\.' t,ﬁ(" \\:LNQ‘D!V o :'1-* ‘ LAY ‘;o; LT r;n,mwtfn] "i'f'«l.rw
T busxﬁjemgggojrowgga by S ng A nata) pngl“ ENRIcH of Ahe folloWing accountay \willtbe.debited?

A) Notes Payab]e

B) Accounts Payable
C) Bank

D) Cash

Answer: D

N BT RN AT P ey

'12) 'Ihe follow:ng transactlons for,

TR Y RO T A

nthiot Marehhave bean,

N il Al e B 4_...

g Fdat iy YATNeY v“?’;’«?”‘b""ﬁ“\

.os sted10'tHe! proper: :accounts

L Caaty

Mar.1 Martinez invested iQ}OOQléash,in,his new Elegign services business. CmS‘\ T CmP"‘fo’f

Mar.2 Paid the first month's rent of $800)  Rent exp.  Coish .

Mar.3 Purchased equipment by paying $3,000fcash and executing a note p yable for $5,000. -Equipmon f.CmS.h ¥
Mar.4 Purchased office supplies for $750]cash., Supp lies censh ¥ e
Mar. 5. Billed a client for $10,000 of design services.completed. AR  Service

Mar. 6 RecewedWon account for the services previously recorded. ¢, 51, Tt ﬁ/R

What is the balance in Cash?

A) $13,250 Consh
B) $1j2,450 R

C) $15,450 . @® 9000 | 86 @
D) $14,000 b M
Ariswer: B @ o0 | 3o Q)

k4
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13)Tie foliowing are the. currentimonths’halances'for:Toys Galote; before preparing the trial baIAnCe:

Accounts Payable $8,000 \~
Revenue | ' ' 10,000 %.
Cash 5,000 A
Expenseés v 1,750 %
B
P

ﬂﬁ L + E
. fso0s E

Furnitire . 12,000 3J, 600
/Accounts-Receivable 14,000
ones, Ca’pital 777 £- 16 Son
Notes Payable 6,500V g

What amount should be shown for Jones, Capital on the trial balance? + Rew
A) $16,500

B) 8250 L xp
C) $14,500

Cm’pf!‘ﬂ:l

~with doiai O

X

+
lo Goo

T 980

D) $31,000
Answer: B . £
P e e R e e S S IS e
A) Smith, Capital

B) Smith, Withdrawals

C) Gash. ..

D) Accounts Payable

Answer: C.

A S Lo TS R A oy S A AT AN T T ATy 14‘7‘7 IR

willbeicrediteds

por ey

| 16,500

SerymEEe e e sy A TET Rty T T o T B T S T S e
15):Which! ‘ yJories statted-abusiness and.depositodicash of

$3,0
A) -
Cash 3,000
Christy Jones, Capital 3,000

5) ) Cnsh 1A
ccounts Payable 3,000 CGF"'-’" ] T ¢
Cash ’ ' 3,00 1 R

Q) ) _
Christy Jones, Capital ' 3,000 .
Cash 3,000

D)
Christy Jones, Capital 3,000
Accounts Payable 3,000

Answer; A



Chapter 3

’r”?‘. AN p‘-.-.-.grf;‘xv'.w;(-«.‘aw\‘m»-g o

e, entry to .record deg;ec:atlon,."r:'{'a idey

B) the Cash account
C) the Accumulated Depreciation account.
D) the Depreciation Expense:account.

Answer: C
1
B A O DA o e T T
2 AdEpretiabie BEsalS BN T At preciation iscalledi
A).book value,
B)residual value,
C) accrued revenue.
D) accrued expense.
Answer: A
A o _:" s Nl \q—y Xy SRATNAUTTE “’l"';—:’,ﬁf'“ :’l‘}k”\'v"ﬂ w‘:}‘w Qv:‘.oq
[Sinese.callocts CashirOmCUSFOMErs it advance of comp pleting aservice one

R.w, auct] nx..

A) accr,ued,revenue.
B) acirured expense.
C) unearned revenue.
D)-prepaid.expense.
Answer: -C

A R T T
g),:&uauedaegénuegslrevenu Sthats

A) has been collected and earned.

B) the business has collected in cash, but not yet earned.
C) the business has:earned, but not yet collected in cash.
D) will be collected and earned in the future.

Answer: .C

,’.(\“‘"- ﬁ“. ..a-.n;nn P ?‘l , ¥ '..1-11»-‘ 1’» A -& T ahd Swlwpr 'z":r" ‘4\ VPO J,"‘-wu\-vr-l

o) Aniadjisting at At radis Salaties PR AR S S E ST
A) accrued 'expenise..

B) unearmed revenue.

C) accrued revenue,

'D) prepaid.expense:

Answer:' A

_.-q.dw. 120 A [ -Wm}-qr"-‘ . | LTV _,4-«._‘._,-&'\')’

B)ATReS advance; eash’paymentsl of fittire;
A) accrued revenues:

B) prepaid expenses.

C) unearned revénisés.

D) acciued expenses.

Answer: B

e . » e 4
.,~ LNl vgs»b' AT '« ey -wwﬁi' A% lr.g'\.*-— lhj',fc"l"‘

le ‘{Jf nda’C ;Hupgn):;:h’éﬂ' a;debitbalanceo ,,900:..19
’c‘c;iii ' 0003 ' ‘

ishikense e
A) $350,000
B) $620,000 .
C) $370,000 AR beo, 00
D)_$600,000‘ éq’f\)‘;‘m’ Reu . 600‘ QQO

Answer: C



m«ﬂ-.f}mpcm'l W ] f'.c-‘-t,,mu»lx’ —-{mx ; ‘_’ o AT w:,q-w"-,‘x*ﬁ‘g'!:s n\mr.f«‘}-’w,m e
7)Qwer ty,f .gﬁrep,_ aidh No\fenlber 1?;: 01: ; Or-a,one- earr‘ & premium nuary\ :2015;of-the'next year

g_ﬁ_gr DecembenSLadJushnents), ~~~~~ aid; Insuranceaccountwi A havetaedébxt,balang_“ ofi 3668 - £00 = 3000
A) $3,300. Mov, .1 ‘ 'P,'epa,', d Insvron (g, 3boo
B) $3,900. O ) 3660
C) $3,600. Cas —— 400
D) $3,000. o 3boo ¢ %
Answer: D @%3? ’I)VSUYON“IC@ e"lf' 600 :

P,g o,,‘.,r lasuranc bc0
‘?l@}‘ E*g“é“&%’b‘é‘re 149 R i;;liifjﬁe;ﬁeﬁge;;

4:0 OD fro;ﬁ'ai ‘

Tanen

~s2
ssg“gy.

e e ‘?
m OgTuZe %g,p,oé‘ra? the! & revening. Whmh had:beeme%éﬁé‘él&d

A 120151

A $7 000 credxt :

B))$14,000 debit U“Mi"‘“! Rev . C"’su;}, M,.,,f, jﬁu r4o0s

C) $8,000.credit Jooo |Bey 8,000

D) $15;000 credit 14, 6ot . urgoened o 3002 |

'An"swer: D ’ |{!‘J {S0ad \SC VV}:C!. Rd v deon

Epset eines R ﬁz@g‘“"‘" *m ~3§,;ﬁ$s€£?f’m§§“?’ai1ua’§

‘thfé'u'gh-. ,}lhéga!i‘ rakes'4terual’s thlys et e balincs in

o T e e e

! ?cbi:Rent« ccount«aéﬁof,gpnl@l)?

phiredofac)

}}:))‘sis??égoo x PMP(?“J Rent f%.?oé
cnsh 16 200
C) $1,800
D) $900 . ) s g
. . syt edp .
Arswer: & ) /?in'./)cnzj JQ(_?nf
AL R S R P s ey

A) general journal.

'B) chart of accoutits.

C) unadjusted trial balance.
D) adjusted trial balance.
Answer: D

AA) habllity, credlt

B) asset; credit

C) revenue; debit

D). asset; debit
Answer: A

12 Whartipe o ?T?Ecouhﬁ;?%i;gia Rehtand o
A) expense and debit
B) liability and'credit
C) revenue.and credit
D) asset and debit
Answer: D

.t

‘i,ic, )w:’;.;:v:qr\ "“"i AT
hatiigitsnormal:balance?



G A o m-x-;-w.

credits Salari

Gty S )

Xtk e

13)Anadu t5ting e Tntty th
A) acctued expense.
B) unearned revenue:
C) accrued revenue.
D) prepaid expense:
Answer: A

ST vvwv-v&w K T R A
2\S

T4)Aniad]usting entry that.d siAccoufits Receiv:

RIS PR

R yable isa

an'éxampleof a(n);

IDEAATS T e s s oty

AbIS S A ExamplS ofam);

A) prepaid expense.

B) accrued revenuie.

C) accrued expense.

D) unearned revenue.
Answer: B

B RS TsRwRe Jeaicon R Aot
A) Deprecnation Expense

B) Accumulated Depreciation
C) Unearned Revenue

D) Earned Revenue

Answer: B



Chapter4

B . Under \yh k@{»ﬁﬁ;‘g £l Sfirfﬁjgwgf?g'bng;s*woul&a?‘ ur
A) Current. assets

B) Current liabilities

C) Long-term assets.

D) Long-terr [iabilities

Answer: A,

SAPTT T K fe e

i, Receivable; sappeart.

Ao Yo}

.(n e AT AT DS RNy mnmm;a}ﬂr,{“'m*~

") "’wm"lél“ic&ﬁ fhe ?chfow:ng categor;es ﬂoﬁiﬁ*‘l‘:ﬁ%jﬁﬁs Investmentformore than’a yearappear?.
A) Long-term assets

B) Current assets

C) Long-term liabilities

D) Current liabilities,

Answer: A

S Under R oo Tty eS8 W OUIEA CROUR TS DAy anIe arpeas
A) Long;-term assets

B) Current assets

C) Long-term liabilities

‘D) Current liabilities

Answer: D

AW :cg;g’ e the following s aplantiassets
A) Equipment

‘B) Patents

C) Trademark

D) Accounts Receivable
Answer;. A
SiThe Notes PayabIsThatare due
A) current hablhn_es.

B) current assets.

C) long-term liabilities.

D) long-term assets.

Answer: C

'(;:.("i SR T AN T S s as e evrvrga gy
tlun

classified:as:

Tman . l

6 AR
A) current assets.

B) intangible assets.

C) long-term investmerits,,
D) mortgaged investments.
Answer: ‘B

Ty WHIER GEhESTsHiRgls!
A) E'qmpm_ent,

B) Plant

C) Propérty

‘D) Copyright

Answer: D

e slae e TR AT I m A ,,‘ S A
R o

xampleiof-dnintangible’ asset?




»

L e P YA L M TR T e RN Ty R R "‘7

8): Kﬁf%@%gh%f Atilists:fhe assats-above the abilities and owner S equity:sections 1s:a(m)y
A) report form balance sheet.

B) unclassified form balance shiet.

C) account form'balance sheet,

D) audited form balance sheet.

Answer: A

L AT Qo s S e CRELET AR

9):Building: ‘él dfand eqﬁxp&nent‘arqclassxﬁed as:
A) current,as_s_ets.

B) long-term assets.

‘C) current liabilities.

D) long-térm liabilities.

Answer: B
'-w"*'u Lo '*. A P S O P AU
Whi ,:Qb.‘: Ehg 9»..2“{8 WOUIQ.EEEWS‘ lerel “obgt B‘-i..t?
A) Accounts Payable
B) Land
C) Cash
D) Owner's Name, Capital
Answer: B.
ST AT e. ' T R R (e B M SRR R gt
11 ;‘_Ijg»y@, ;gfu ,,Lll wing:a ou'ld tth alan an:the: qulqlpé;gl_;n_}marynaccount"befclosedZ

A) Owner's Name, Withdrawals
B) Net Income

C) Owner's Name, Capital

D) Service Revenué

Answer: C

£33y ,W\\,.,,-‘k Opa T RN TN ST LT

ng bala_xlce‘iaftenthe‘c}osmg p_;ocessq‘S’complete\d]

\1»594

Y\ qm.* TS n DN D (i Pl s ‘ tlf}"“'i [5er;

T2 Whichiokthe! followlnh”atcouratu wilihaveaniend
A) Owner's Name, Withdrawals

B) Rent Expense

C) Accumulated Depreciation—Furniture

D) Service Revenue

Answer: C

~1n\;..¢-0,\- N A P A ) LT T T N P A D LA N 1T T P s Piapitnd

_ arah ,‘lth'dra' als:S; de durmgzthg'year'amounted‘ ! :$30;000
Whichight Mf{oll wing:statemientsis rue:o f)eft;gct‘of;ﬂ‘\eSeifransactlons pmsiéralg,‘m; "jigi.i

A) Sarah, Capital account decreases by $25,000. (npital

B) Sarah, Capital account decreases by $5,000. Tty Tt e -

Q) Sarah, Capital account increases by $30,000.
D) Sarah, Capital'account increases by $25,000

.n»w“s'.vu: TN ERY tae N e N0 e

&"tjl'l{é"wmgfsrm ah for:the ear,1Sf$25 000;

Answer: B N .
¥ 5000

O T e e A R Fo f»-“‘w‘::m:*'::* G A AT A T oS Y I B e e

Wk he Rllwingntzies Wil bE necessaly Widosetie Ihshrante Expense ateounratthe end SERE e

A) Debit Insurance Expense and credit Income Summary

B) Debit Insurancé Experise and credit Owner's Name, Capital
C) Debit Owiier's Name; Capital and credit Insurance Expense
D) Debit Income Summary and.credit Insurance Expénse
Answer: D



15) Which bt e following accounts Wil be Included i & postositg g balance?
A) Owner's-Name, Withdrawals

B) Saliries Expense-

C) Owner's Name, Capital

D) Office Supplies Expense

Answer: C




Chapter 5

PRV f A R e L R e sy

e perpetialitventory:systemidhe

v,
e A A g

"
et

O
1d;

h for'$350. AR 3so
B) a debit to Cash and a credit to Sales for $350. Soles 350
C) a debit to Cost of Goods Sold and a c:g'c_l_it to Merchandise Inventory for $221. coes A
D) a debit to Merchandise Inventory for $221 and a credit to Cost.of Goods Sold for $221. lnventsiy a2y

Answer: C

R MO LT E Y T A o

LT AT e pT T S T A R S (e e e i
rpetualinventory SySteny what is (e titterence betwaans

RS e T ST RV XATIoN S £ iy i i N S S A e A U e P
216 18 B
2);Uridertheipe ysalesiretuimiandsatsale &

A) A sales return reduces the amount receivable from the customer, but an allowance does not.

B) A sales return involves an adjustment to Merchandise Inventory, but a sales allowance does not.
C) A sales return fequires a debit to Sales Returns and Allowancés, but a sales allowance does not.
D) A sales allowance is deducted from Sales revenue to calculate net §ales; but-a sales return is not.
Answer; B

oy AP ,‘:*“\,,;..g'n&!l.-j-!fﬁ--_f;""(_*"!\_—;-: : : A »"_‘2«»;:‘:;““{.51—--- B Ay S e Lo SR .j"."\:..-l"r’-&"‘:‘l:!:: -?(t's-f.":"f.‘#"”n"‘.‘;‘.-'):"":t;‘-_:-»':»{.‘?.'é’i*.’ﬂ‘;?%i&"',"’-'!‘%
3): any:sold mefcha ‘ 10 termsiof:3/10:0/30/The.c ni#ﬁany'ﬁstfs,: ‘perpetualinyventory;
e Pk ﬂux i : SE AL R T S o, ST o B R S SR RESER N R
SYstemuMicr o days, it tecetvedid ymerchandise W orthi$2i000 < The journialientry o recordithe ashiraleipt for
w3 N 0 SN 2 G M AR e e G SR T T R R b i i A e s e e
saleifthe paymentisireceivedwithin 10/ s GEtheneice datesonid inciida

A) a debit to Cash for $17,460,-a credit to Meérchandise Inventory for'$540; and a credit to Sales Revenue.for $18:000.
B) a debit to Cash for $17,460, a debit to Sales Discount for $540, arid a credit to Accounts Receivable for $18,000:

C) a debit to Cash for $18,000, a debit to Merchandise Inventory for $2,000 and a credit to Accounts Receivable,
D).a debit to Sales for$20,000, a-credit to Accounts Receivable for $20,000, and a credit to Sales Discount for'$2,000.
Answer: B

f«%:.-!-.s-'-fwem:mIz.‘r:-z‘:nw‘wﬁ';-m-

mithe:followingdetails!

L e Ay A

Bales revenue ~ $460,000

Cost of goods'sold | 300,000

Operating expenses ] 85,000

Sales discounts : 20,000

Sales returns and allowances 15,000

[nterest revenue- , 5,000

gy ..

A) $400,000 _ -

B) $415,000 Sales dhs count
C) $425,000 n Goles retuns § allwant
D) $455;000

N". :)O\fe‘

B) $125,000 Net S alex
‘C) $140,000 - 0 (i.ﬂ
D) $160,000 At

Answer: B Gaoss Fre f"



RO S (Do A ey Eages

6):Gross; proﬁg,:s ealcylated as:

A) sales revenue less sales discounts and allowances.
B) sales.revenue less operating expenses.

C) net sales revenue less sales discounts.

D) nét sales revenue less cost of goods sold.

Answer: D

-fw «w;qwz,g e *:rv
T Delivery expenseis Aty
A) adnumstra_nve expe.nse.

B) factory'expense

C) operating expense.
D) overhead expense.
Answer: C

-

oo S e T A R Ry
St
phySialinvenios
A) debit to Cost of Goods Sold and a credit to Merchandise Inventory for $2,600;
B) debit to-Cost of Goods Sold:and a credit t6 Cash for $2,600.

C) debit to Merchandise Inventory and a credit to Cost of Goods.Sold for $2,600.
D) debit to Merchandise Inventory and a credit to'Cash for $2,600.

e B B e e R o e A R RS
S ONrtE h'% M‘m\/er’?torv\of“@;’JS\"E'»O J.&I?he-ad ushng ﬁtrhal'ﬁi’:ludes g_‘

o e

Answer: A
"”*:r'r‘.“"jy}c T ALAT IR 'r".v,i"x_!i;:";l R A XA ,,“.p"»q'* ookl eic 095 e S T L oo R Y ST ST e ey
9) Salesitevent -ra‘: \ef landi if.arx}ogn{ecsl {£0:520/0007 alesetiirns anw‘ 3¢ fitedit ‘f 0 Drfann_g}sélé*:
£ R un Forl s >:J l-.:;‘ a 3L Bl A Loy % > '" ’ “ g 2
& 5;: t’ Ot $7005T] ve,hmexchand1se&:«ushsB\’pekﬁ'emal)mventoryrsyst : e ﬁrs he .gc-w Sihg Process wouid
inclidsl
A)a cred-lt to Income Summary for $20,000. Seles Rew Qb 000
B) a credit to Income Summary for $17,500.. _ . . )
C) a debit to Income Summary for $2,500. Lncome Summ ary Qo voo
D) a debit to Income Summary for $19,300.
Answer: A
;;._.1- y»,g (,:‘ (oo 7'"-‘1* .»;gm.:u 7.,,--4; B:»zq-m '-, o g o .“;_un...‘;:‘yn tr.)_,fy\,qt‘w ‘f' 'Y ""v';'( ‘. HEPPS :m\:v-vv GRS
{0y K mershahiicer gt szsé leims and dliow el K‘e“{ws‘; SR ERR dsfé’éld 0E1§12 0007 and:3ll
’:'-»rﬁ : gL PR S e : .-r-.g,',- T‘t:“«:?”.J A SSETIE TN
othie expEnses 0f$4:500:The me;ﬁan {iseruse gfggf)erpetualim_q_eyr_l_tory system:The'secondrents i 3
LR ‘ i» "4~ "‘c
WOl ldsmc ude;

A) a débit to Income summary for $17,500. Incame Summay 13,500

B) a ctedit to Income summary for $16,500. Seyes R { I 300

C)-a debit to Income summary for $4,500. Safes chscammt Joo
D):a debit to Income summary for:$16;500. C%; ; ' 2oc0
Answer: A Exp y , soc.

N R Tt e O T R AP A Py Ry ¢

1“1) T hg:&gf the;financia s'_ta_t‘gménts, %hang&e > Tnvent ar\~ a@ost oF, good§ysold‘a§fa§a§
A) on the balance sheet and statement of owner's: equity, respectlvely

B) on the statement of owner's equity. and income statement, respectively

C) on the balance sheet and income statement, respectively

D) on the income statement and statement of cash flows, respectively’

Answer: C



;“"Xﬂ'ﬂr@f PR R T "fﬁ""’ AR RN
OBETAlNg, INCOME th ATy S ah St IRCOTRET

\’b

s°~

e T e e
A) sales revenue

'B) cost of. goods sold

C) interest révenue

D) operating expenses

Answer: C

LT p,t’,i-fﬁt

10 arrive:atigross

h.',..gé.::,,qa‘mqj “\Q., x 3 mermainyy b s WA N
- B

13)' A multics c;pg.mcomg,statﬁrﬁ, h}nch!of‘_g‘ndéﬁ\él,l'g"” s, subracte

EE v b Mo gL S LTV ey

A) co_st of goods available for sale

B)-cost of goods sold

C) sales discounts and Sales retiirns and allowances
D) operating-expenses

Answer: B

e i,p.{."‘""’d Ay R

nyes "f"iioryqs;hsted Tas.

'145"6}%’5’%1éﬁaﬁé’i’éﬁ%"“ﬁéljmce sheet)
A) current asset.

B) current liability.

C) expense.

D) feveriue.,

Answer: A

AR T TSI, A T IR
ird:step,in;the; goc S:C clq @gthe ccounts/of ofea

EARIy

15) 5;&*;*2.55‘47.53 SRR e e
o e
merchandiserisito!

A) make the revenue accounts equal to zero via the Income Summary account.

‘B)make the Incomeé: Stummary account equal to zero via the Owrier's Natrie, Withdrawals account.

C) make the expense accounts equal to zero via the Income Summary account.

D) make the Income Summary account equal to zero via.the Owners' Name, Capital account.

Answer: D

IR R SR
1s%uses a;perpetu mVentorx

u?q ﬁ w-&(‘.‘ i n'-.'

temThe. thire

p.l

S (et




Chaptér 6

PRSI T o ) R s g AV e R O ’*ﬁ““““*iwfv"*“”“‘?f
stperformistrictly: properaccounting only for items thatare
A) accountmg conservahsm .
B) materiality concept

C)-disclosure pnnc:ple
D) consistency principle

Answer: B:

R R R e e
PrIRIpI&OR

-A) conservatism.

B) corisisténicy..

C) disclosure.

D) materiality.

Answer; B.

RIS, e o owm BrnCID é%f"’t’\éfé‘%&imiu siriegsis statementsmist Teport enoup RINEORTaE: Honifor
SiNSIeIsto geable/decision: %QQQE”*?“h;P@x. ‘

A)v.accounhng.conservansm.
B) materiality concept

C) disclosure: principle
D)-consistency principle.
Arswer: C

AP At RRoR RV entory A T kaped iGERVERIGy!
A) authorizatiort - T
B)sale
C) physical-count
D) delivery

A ST e st R R S O

Q?Febm

Zopira
keé't;h‘bn Jant

Bi.ﬁx’ ,zm ;

1 ; SIS -0t | eno,ry.c o Siperpe
A)ii'!f%yﬁ“m o ,a,,....cxm | coes ¢ Babwe
?3))21’%?)3 Jora 3 150 “"j"‘&: #'Zow ! 100" = L"W
‘D)V$2:'2503 ) Pt s ﬁ"'.;;a : ;l:i"i?:; 42‘;‘3 l
Answer: A D . g -
dhns e
rs0 s for $50°a "T 5 e}}gjgﬁ S

.ses.a,:ae‘rn.;amy,éntory‘

A)$6,750 . g

B) $2,700 loo* ha¥ Purchoses (06S Boniiant.
C):$4,350 ‘ ——
D) $2,900 o043 ro0*d30 . f3cow
Answer: ‘B: : :

150 fas 43,'?5" '.15a dv?-’ff ﬁf» 30



S P
00-__ mi ;

IO
% 7 ey i3 W
Ryitisesa; ﬁéﬁg tiakin

£ m
"‘c'ir AU

the company;

G L)
an\re on:Decembe

i ot Q»,sgy;um««mmnww
wodze | ME :aé"ﬁ?“—'

lom'
(Y-

s § o s e et o

3
150 ;’ff . So-t-zq

00 ‘.f-s"

“"'T -:"3 m ﬁa»w"m ﬂ TINEE, ‘3-%" A bty A YT '3'4“(30%‘” oLy

x,g)«" VHic ,fg,w foﬂowmg SRtor S nethods yiel el s{_ Sthechiz Wﬁ @ﬁfxﬁﬁo’ﬁ‘\eﬁu@tfﬁ?@pgﬂ h@gsmg‘lq“wﬁfy
costs?

A) Specificidentification

B) Weighted-avetage

C) Last-iny first-out
D) First-in, fitst-out
Answer: D

rng u..a@vaqw qgn«h 3

WhichiohiheTolisiang

>§*wwa-s"r .f*éwwi?ﬂ"“fa“b"iﬁfm TSR EMETT §
} (3
A } { HommdTin, i v Loy ' g‘t

A) Speaﬂc identificationt
B) Welghted—aVerage
C)-Last-in, first:out

D) First-in, first-out
Answer: C

1O g;%ﬂié'fo TR AT ‘thtaé?ﬁ"ﬁﬁfﬁﬁzesm e AR PAIERE g A Berion OF ISt
\?‘e SHoryeosts?
A) Flrst—m, furst—out ,
‘B) Last-in, first-out
C) Weighted-average

D) Specific identification
Answer: B

R e S O A S R R B S R e m”ci"eo"r’”""ﬁ‘é‘g e
A) First-in, first-out.
‘B) Last-in, first-out
C) Weighted-average
D) Specific identification
Answer:' D
et RtiATnYentory Tethod Juier e i eyt ad ikt entary

A) Debit Piirchases and. crédit Merchandise: Inventory

B) Debit Invéritory and credit Purchases

C) Debit Cost of Goods Sold and. credit Merchdridise Inventory
D) Debit Inventory:and credit Cost:0f Gods Sold.

Answer: C



- wq..! ’“""'&‘@T""’m TOITIrGe AT T \'J'I;Png’»ngl R T e, .l"w;ﬁ;“‘rr‘ e -»—N\I'r~f' P TIATTHL NG e e X ge g e €15

13) l,ﬂ ompany_ 18 di2 OXy.oF -Qand at the epd ofthe hese: e ordg%‘atvfl;@gigﬁﬁ;}?fsﬁﬁg
.u, ngit ast;,én;;f; ms LFQ)iT a%«,m- %E},‘ h» - .‘ , P L unit T Bi qlgh‘%‘afgs%b* N
?afyd -o_m any orﬁg% b gfj‘g{ /D) @; tﬁ;S:;ﬁyorder 15 xecord therad}ustmg\entryané‘ede@ ,the}lo&\{e Foficosts
ér‘ﬁmarfcetsm tjggmerch’ liseilnVentory ‘-W;illib‘i_ﬁ

A) debited by $2,000.

B) credited by $2,000.

C) debited by $400.

D) credited by $400.

Answer: D

{4 e gl ierchandise InVENtOLy FOmNe CErent BecouH g Bera e v A By T Bl S e e

A) Net incomie for the current accounting period will be overstated by $3,500.

B) Cost of goods sold for the current accountinig period will be overstated by $3,500.

C) Ending merchandise inventory for the next accounting period will be-overstated by $3,500.
D) Cost of goods sold for the next accounting period will be understated by $3,500.

Answer: A

P AU T TRLE RN PTG RF R AR -::-m ,w;u U e RSy o AR 13 R o1 Lo '&V‘ VIR IR ey e e
15 ﬁfr” Oxml?.la.sl’lmi,,l ”‘l" }Eﬁh‘@ et t?alimv entory: systenis _IT Qo sit E:a?cgl\x‘sto erfor Wé’hﬁ\ ;;@3}0005%&2 oSk of“che
i, - e ALNRE S
,waé‘$1‘ '-Whl‘clf ofithe:to _lﬂlg;ging. oii é8cOrreatly TecOrds this fransachion?

Cost of Goods Sold 3,000
~ Sales Revenue- ' 3,000
ash . ‘ 3,000
Sales Revenue ° 3,000 Cgad‘- t
Sales Rev -
Cost of Goods Sold ) 1,000
Merchandise Inventory , N 1,000 A .
C Inven to :/'I v
Accounts.Receivable 3,000
Cash 3,000
D) _
Merchandisé Inveritory 3,000 ,‘
Sales Revenue | 3,000

Answer: B



Chapter 8

1) Whieh oF the TolTowiig i570ne! ok The patposes o iteral Sontiel?
A) to encouirage employees to follow company policy

B) to ensure timely payment of Accounts Payables

C) to ensure timely collection of Accounts Receivable

D) to guarantee that a business makes a profit

Answer: A

'} “) ¥ 85 y gom it PR ke teoh FO ey s
Whit 3f‘the« ollo 7‘ é‘s%}xbes&he* qjgmal d’émtro’l«pxoqq, jtire v"semratlbwg ‘a f g'g

2)&'.4& _.........»‘ A‘__.Jm \» ..)(— g ar o

A) Cashiers must not have access'to accounting records,

B) External auditors will monitor internal controls.

C) The information system is critical.

D) The invoices.and other documents must be pre-numbered.

Answer: A

i Pt bt hr':!‘l'ﬁ “A{M '-'.ni\'}

3)Rearrangimg;plair
A) password.

B) phishing.

C) encryption.
D) virus.
Answer: C

N S IR T BTTITOe, o AT AT LS B cai 5’::.'",,"2 :

Vi AN oo A
tmessagesiby:amathe matlcal,,process ASKNOWN;as;

A

im:v*‘.--'u» er"k R .n,..,,_uq-‘w.n.,.{.,.,l, TR A NPt iy

aﬁ‘&ﬁtt n; Bﬁg 'fon$507 ‘butwas:récordedan th & cashipaymentsjournal:as 7053 How: would’f is

e 'm‘"{tf‘e’sa‘@g o

A) a deduchon on the bank side’ .
Raok evver

B) an addition on the book side. Lod

C) an'addition on the barik side (503 ) ( ‘?OS')_

D) a deduction on the book side v X

Answer: B

) e b Ak ST e A S 0 e e A B30 e G

A) a deduction on the bank side.
B) a deduction on the book side

B o'mé. error

C) an addition on the book side Zooo 200

D)-an addition on the bank side v X

Answer: D ~ e
+ AFe0

b o

dionithebank

s i d P s gy e »q,z\ra—"ﬁw Iy _‘n"

£t atelephone billiof 85,000 oW wola thib it

tiamstom o e LS e 2

A) an addltxon on thebank side
B) a deductiofi on the book side
C) an'addition on the book side
D) a deduction on the bank side
Answer: B

i g l»'-p TCEd ﬂ,‘g:, RF P w ';,\:‘..y N TS T N (i T Rorrd S, B2 B oo T RN l‘;’q IT e e e
A checlg‘ of §3 ,@000 deposxted:hx‘a gompan ma_s\retumed&o the jfank fornc nsufficient fund
TN '*“...“ i " AT L4 ] >

";gggconcmat ne

v b A are ey

‘mf_ognah ‘lge ;nclg_gggi og,g_he,b
A)a deductzon on the bank side
B) an addition on the bank side
C) an addition-on the' book side
D) a deduction ofrthe book side

Answer: D




8) e PRy et 650 WA e e Aot Hichadjustiient
A)decrease’the'book balance o

B) decreasé the barik statement balance Book errér

C)'inicrease the book balance. N

DYy increase the bank statement balance (6s9) (gs6)

Answer: C

st e A N%‘R AN w[;‘,z.ui,‘_m SO

.The bank:chargediaservice;

Tl e R ot dataC

e o g et s e u e SO o g
”] T S x\‘. AR S § FLENRT, '7”"3»’.";’

d-onthe bank reconciliationg

A) a deduction on‘the barik sidé
B)-an addition-on:the book side
C)-a.deduicétion oni the book side
D) an addition on the bank side

Answer; C
n":“" 1 3 #{?3‘;1 *x‘rw»;i T T DA O ;ngm ‘czm TS IR A TR
IOJ;Much; 'fliyg ‘cﬂ}g,_:‘ i item emsiTequire Anadjustinent.onithe bar side’of: }he‘bah]é ‘réconciliation?

A) interest earned

B)-a bank service charge

C) a note collected by the bank.
D) deposits in transit

Answer: D
ZERe s gt (e e Sy }\‘l‘l'&’g‘ RN AT e ST e
TR ot e Foliowing: k feconciliation?

A) It should niot be prepared by an: employee who'handles cash transactioris.
B) Itis:prepared in place of the:cash ledger.

C) Itis a financial staternent. B

D) It guarantegs that no errors have been'made.

AhSWQI_‘: A

RSN “' 71 IR T TR

i
IiS: w@&lgglc ount.hi qs J:Lad S4iial .money:to?paya he.check:

e 5}—“ e «:‘\.‘M GV }! -’H:L at) ‘ym\,igfw‘v" P
I2)Aschieckiforwhiehiamaker:
A)’a nonsiifficient funds check

It s s Sl S L :-A‘m,*-:f f""‘f» Y

B) an outstanding check.

C) a restrictive check.

D) a cariceled check,

Answer: A

R Rt T ation A AR e R RS EOE e rent month:
Book balanceend of themonth, v $6,875

Qutstanding checks 655

Deposits in transit , 3,500

Service charges ' R

Intérest revenue ' v 435

What is the: adjusted book balance onthe bank réconciliation?
A) $9,600

B) $7,480

C) $6,755

D):$6,825

Answer: D



R bans ‘-‘"}'%:;'T@%”?‘éﬁg@’?ﬁ?é’ﬁ%@’ Balanise ‘*o?g;i,ﬁﬁﬁr? 'ﬁgﬁc]ﬂ';{glltéms' okKkeeper
etk A;;de 1 §§pb) o'duts igchee kgtofa_ilih’g&BZO A Service chargeiof %\2/1 depositiin:tran

aqglfgq;erq;sg_revenqe‘oﬁ%lm I t}ie,ad;usted*‘boo Alarice?
A)$3,894 had y y
B) $3,460 4,000 Baok ervar (500§ [ 600)
C) $4,106 : + 100 el
D) $4,540 - 28 +1e9
Answer: C + 31

R R T o R R
A) a debit to Accounts Payable and a credit to Cash

B) a debit.to- Accounts: Receivable anda credit to Cash

C) & debit to Cash and a credit to. Accounts Receivable

D) a debit to Bank Expense and a credit to Cash

Answer: B:




Chapter 9

R TN A N e TN AT M e, v e,

TN b e e T I LA AL g e
ifithe entry:to:write/offianuncollectible:account?

) Under thedirect pite:off tethod, whichiof the following 1sdnciide
A)-a credit to the Allowance:for Bad Debts:

B) a credit to the customer's Account Receivable

C) a debit to Allowance for Uncollectible Accounts

D) No-éntry isade to write off uncollectible accounts:

Answer: B

RN Y T N O S T L T s O g USRS ;
2):OnJdnuary., Davidson Sexvices hasithe following

Sl e P PR ST

A I A 42 R Eaten e £, T Ay

Accounts Receivable
Bal. 24,000

Bad DebtsExpense: Al (s i
Bal. 0 — 5 _
Bod Debr exp » Swles Rev - Ak
AR 4 /
Davidson has the -fcgl{;wmg-transactions during January: Credit sales of $100,000, collections of credit sales of $85,000, and
write-offs'of $15,000. Davidson uses the direct write-off method. At the end of January, the balance in Accounts
Receivable is: '
A) $16,000. AR
B) $24,000. " Aloco | Gsenc
C)$68,000. 53 f,fi o | 15 e
D) $28,000..
Answer: B 24,000

R T S o A A LA TRt i B o 7T ) Pt e i e T e 23
S Wichiorthe TelGwing R o methoas ot esbatie THeeTleabTe Taeaivabiens

A) allowance r‘p‘e_thod-'anc_l amortization method
B) aging-of-accounts-receivable method-and percent-of-sales:method
C) gross-up method and direct write-off method

D) direct write-off method and percent-of-completion method
Answer: B' )

A T R S s L ey SN ST Sl At i 24 a2 s oo
ifielentryiicwrite Sff Aniaccolint recivable Gnaet e aliow nte method vl

A) reduce riet incorrie.

B) have no effect on'net income.
C) increasé'total assets..

D) increase net income.
Answer: B

B S R e A AR RS N T Y R BT ey

5)CAAETEquires;mosticompanies:to uiseithe:

A) direct write-off method to evaluate bad debts.
B) allowance method to evaluate bad debits,

C) amortization method to evaluate bad debts.
D) 360-day method to evaluate bad debts.
Answer: B



‘}?\""t’z‘?"“"’a‘zﬂ'w ‘},*'"— .x PRI T "

ngant omahgg g f_r therecords f tr}in_g illo:Camera‘S

rpraar TR 'w«m.),]

'{

6)111 1fo—‘lovr§;i hop:
Accounts receivable, December 31,:2015 $20,000 (debit)
Allowancefor Bad Debts, Deceniber 31, 2015

prior to adjustment 600 (débit)
Net credit sales for 2015 _ 95,000
Accounts written off.-as uncollectible during 2015 350

WY

Bad.debts expense is estimated by the aging-of-accounts-receivables method. Management estimates that $2, 850 of.
accounts receivablé will be tificollectible. Calculate the amount of net accounts receivable after the: adjustment for.bad

debts

- Miessen,

C) $16,550 A llowant 450
D) $13,000- T . N S
Answer: B er BIR 13,150 \End @ 250
z);:;fﬁé‘{?gflﬁﬁ‘é}ﬁéﬁ&anﬁéﬁi&’aﬁeﬁ' I reCoras Oh AT AR AT rs Sh oy
[Accounts Receivable, December 31, 2015 = $40,000 (debit)
Allowance for Bad Debts, Decembeér 31,2015 _ ~

riorto'adjustmeént. ! 1,500 (debit)

ét credit salés for 2015 ' | 175,000
Accotints written off as uncollechble during 2015 » 15,000
Cash sales durmg 2015 _ L 27:000

Bad debts expense is estimated by the percent-of-sales iethod. The management estimates that 3% of net-credit sales will
be uncollectible, Calculate the améunt of bad d debts.e .expense for 2015.

A) $5,250

B) $3,450. 37 V1S

C)$2,250 '

D).$2,850

Answer: A

RIS,

mand: {GameraiSho

BT he WA I OrIHIOn 18 EOnL the 2015 Feror s Sb A

......

lAccounts Receivable, 'December'Sl, 2015 $40,000 (debit)
Allowance for Bad Debts, December 31, 2015 f
rior to adjiistment , 1,500-(debit)
Net credit sales for 2015 L B . 175,000
Accounts written off-as-uncollectible during 2015 | 15,000
Cash sales during 2015 » _ 27,000 ,vggd

Bad debts expense is estimated by the aging-of-receivables method. Management estimates that $5,000 of accounts
receivable will be uncollectible. Calculate the amount of bad debfs expense:for 2015.

A)'$7,000

B) $6,500 . Allowan e

C) $6,450 SRS o m

D) $5,250 E",ft {5 X > 6,500
Answer: B -‘

fnd 5o
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9)*'I’he ollo ymg»mformahonzlsffromnme 2015 records. of>Armand Camera'Shop
[Accounts Receivable, December 31, 2015 $40,000 (debit)
Allowance for Bad Debts, December 31,2015 I Neieaes B nso

ST R TR R R . Feen P8

rior to adjustment __ 1,500 {debit) B D“"‘”V ¢ cnea
Net creditsales for2015 - 175,000 Allgwiensc -
Accounts written off as uncollectible during 2015 __ 15,000
Cash sales-during 2015, 27,000

37 1A%
Bad debts: ‘expense is estimated by the percent-of-sales method. Mariagement éstimates that 3% of net credit sales:will be
uncollectible. The balance of the-Allowance for Bad Debts aftér. ad)ustment will be:

A) $7,000. ,

B) $3,450. o HMlowars,
C)$2,850. ) 8 C;}\ i St 5’ g
D) $3,750. 1 |

Answer: D @3 % (

ey TR

10) 3“ ;é'"f‘ o }g mn}di‘-‘fﬁ?ah ]?r eQOlB‘regords of: A@aﬁud‘Camera Shop

Accounts:Receivable, December 31, 2015 ~ $40,000.(debit)

Allowance for Bad Debts, December 31, 2015

piior to adjustment , . 1,500.(debit)

Net credit,sales for 2015 : 175,000

Accounts written off as uncollectible during 2015:” : 15,000 el
Cash sales during 2015 27,000 » Ta'3®

Bad debts.expense is estimated by the aging-of-receivables method. Management estimates that $5,000 of accounts
receivable will be uncollectible. Calculate the Allowance for Bad Debts after the adjustrrient for bad debt expense at
December 31, 2015.

A) 85,250 Allowani
B) $6,500 —

€) §7,000 Reg Lsowr |

D) $5,000

Answwer: D . T End s‘oor;:

@dt?%ﬁ

b«,w.

pt
EoARTH thexendaoffth'é.

FmEs "":..a SSTEATCRY RS &
;19:‘ glsf yea {ﬂeﬂl‘g&ﬁ,‘gre
% 5 S i Taten 3,
% fﬁmé*é&npanyfae“ei‘qg
TR BT CH I,’«%‘*ﬂf, ;
of?Z, fOritheir:
Rk e Lyt e

P
13«-‘,_,.‘2‘5‘ N f’
RS ih./.

=)

d:adjist

D)

- :‘J“{ l,l,r
iment:ofNW,.,mw_,mp‘e

g‘" 5ns id _
T "thé‘a‘éndmg;l_zalanq,_,“m ccounts

A) 54, ooo

B) $3,600 |

C) $3,350 QIR foe

D) $3,200- Soles 4o 90¢
Answer: C

?L}/‘: - (;\SA Zbeon
,J) /}3\ Bheoou

{‘} 1| ovscead éso
74/["\ ésu



LRSALTTEA LY

S .
o SR
hads off rcentzof:sal ntor

st se 22 fhctonih 2 forith a»d,:ga,bk-,éipense-%t N st

year, the bﬁlance ofbad Seise wonld;ber.

A)'$150.

B) $800. ,

C) $250. Peviovs @

D) $1,450.

Answer: B

s

I S N R P U ST »g,f'f-: xS 2 mmd 0”6’" e

13)‘N‘cq_rgpanysissues‘af60 -days12%note .10 D WAt sitHe principa
A) $16,800
B) $15,000-
C) $14,700
D) $15,300
Answer: B

ERy uwr&r::ﬁ.aﬁquwp.‘,y N TAT YRR Sy
Al amount" ‘thenote?:

Bd= Ay v‘-v c--'--

Xingeyeam e ema gy

0 T BT R AT R S T g e SV AP e oy L SR iwd Py e e L ]
HiCaiciiate! Eﬁﬁhterest‘onvg& 0-d8Y2 9% Tiote For B3t 0004 LISE & 860 daY Y eartoreompUte ntarast)
A) §720

B) $810 . e < Qg
ot 3{,"_;00 9.
C) $880 ' 730
D) $460.

Answer: B

ST ’“6i5~*e5513r “mé, ors
> ”‘*‘;maﬁé any 5
Decenibier A152016;

TSR o et 4

”"’"""";ﬂ‘ ATy

‘3 2&’ gioten

h'v'*wgi“ AT R e T TR

JOOO,i settlement. of
B .’hu;?ﬁ.{» iyt e, -‘?‘ L ;‘;? i
id;récord the acerited:friter

s

A) $180 o¢+',': —, Deo, 3
B) $160 R G)

& $240 ooo 181" Yy

D) $140

Answer: A

,,.e(_g,—y'v\g.w.\w IOPTE. -'_nu--wa- DAY~ b Ry o L H-‘;(y\ VU AL vr.:)- ST RESY M-T'Y‘*\}Ws

q}: 2015“3"_:; 25 gr%iées‘hasa'ecelyedéa%“ tonthon ”rf:‘é for"$10 QDO a;8° alculate “t_he amountpjgnt rest

.._-...-.....n_..

receivablet on',matunty

A) $320

B) $460 10,000 877 Y
C) $800

D) $400

Answer: D

Fqms P anran . 7-Jn-nm-r§w

1§ O6to bgn}# 015“’
$100,0004F15%5Ho%
A) $2,150
B) $3,750 o0, oo

C) $1,250. Oct 1 NI/RCM A 100, 600 i
D) $5,000 l (00, 6SE sz 5/{L
Answer: C

Interest Recovonk 3 Tse )
Dee 3t lnterecr Rey 3,750

T. . 2n o (A ,05,600
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19)0n Deg emb-er 2015 ‘!"P-w-:iﬁ

Lty
Id‘machiner

e g ot .»\-—‘-aw—;‘fr ~-¢~

ot tomer for, $20 000 The cust

om
Zf?fisi%!sﬁb ay.9 monthSlater; and'signed a 9 Honth niote atov anterest HoW muchin
é;a_ag@_d,qu the_xsaarz_m,%

A) $180

B) $150 , Decs? — Dec

Q) $200

D) $900 Fooet N7
Answer: B

S

12%}4‘?’ d{é‘:‘é‘@ em

- ety

wpm\,- -—»;:f—r-gmr:;.@‘-*&,.».;:;“ R Wﬂ
ccrued'emt nue ofis s

B) $240 Sepp, | ——> Dee 31
C) $160 ' @

D) $80

Answer: C

d,000"137." Yoy
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Chapter 10

FoLTErA e ¢;.).. w“‘-r-h Wg--v-. Tengnts ,-«-.._,-5 Syt e ey R LRI S T TR,

1) Whichiofthe fpllomng asseticategones wouldinclude fie, cost‘oﬁclearmg land an

3P e e

d femioving inwanted build; ings?

% e

s Rt L g,

A) land

B) buildings:

C) land improvements

D) machinery and equipment
Answer: A )

A

Z)Hggt"iﬁg‘sfg&%’?‘npﬁny’has purcjlased Of asSets fors F$15] ff

e TES

T A TR R
sSats AN Their Telatye markeba

mlg} 'i’\"!" r‘—-wnv

llf\feks‘au'e}glus’:ad

belbw,z'

Y= e

and ~ $6,500

Equipment 2,000

Building __. 9,000
139,500

Which of the following amounts wouild bé debitéd to the Land account?

A) $1,962

B)$5,571 6500 | jsaon

C) $1,714. 17, 4c0

D) $7,714

Answer: B

AT S P e r& R

3)“120}3 Etion;

'1"" ‘“"h"*’"‘"i"'ﬁ"‘ TR “b‘ ‘."’M‘ Eﬂ . ww-r—m q-mh-'.“c.. 9'{:‘7‘

Ch ot

T AT :;7

theifollowin

-;;? or:a‘plantsaSSehthatha aimar cet'valug:of. $7:500; Af- h

se‘t-be tecdf ed? )

i "h:;_c;..m SEEREA v_.',,“

amoun tsshould;the:plant:
A) $7,500

B) $2,500

C) $5,000

D) $10,000

Answer: C

v AN e DI YIS A e e b e i

20 2]

4)ﬁco{

Fi :
uldrthe machme be

o v .¢I.v'a\.. m.i»t\..p

;ecoxgied?

B) $11,000
C) $10,500
D) $11,500.
Answer: D

fm I ,\;; SRR PRI NS \ r;»a-si :r\mh R T TSN 1” f_' XN ‘,-\'

8y AR TRy SSHants plans todesely p.aSNOpPINg Center S the BrsE ATat

Acquisition-of land’ $15,000

Surveys and Jegal fees | 600

Land clearing ' 200

Fencing X 1,000

Install lighting. and sxgnage X 860

What amOunt's'h_ouidbe.:ek:o_rded;‘a's,the cost of land in the books. of the company?
A) $16,800

B) $15,800

C) $16,660

D) $16,200

Answer: B

ST ITRTHS TN,

Jnsurance

Wing.
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6)1W}3 Qh;cjﬁ.g‘he & folloWing e preCIaton s vmethods allocates a
A) the stragght-lihe method

B) the annuity method

C) the units:of-production

.D) the double-declining-balance

Arnswer: C

N'm( \ ,'cpw] 1:1‘..3",’_@(;1:\, s v‘wm/w Nade)

.o£ theéfollowulg dépreciation’ methoggh

T rT ""Q",’_‘iﬁ ¥ e v

VIItes: fa‘f

e

{)s

y€al 3

A) the units-of-production

B) the straight-line

C) the double-declining-balance:
D) the first-in, first-out

Answer:. C

OFitelise

M.u-.- w‘

wwwm’m
HiTheSp
A) book value.

B) residual value.

C) carrying value.

D) market value.

Answer: B ;

Paen qw'-.,y »;-,:rzr- n}\.“r!,uw“ P liTamnd

ary, 1'~>2,015 ~zéa

R "\-9’2

;24f009‘hblﬁ53

Ty ;
.“9}* U] ﬂaggi?: kﬁlﬁ‘
depreciation:
A) $25,‘681,000
B) $17,777,778:
C) $28,532,688
D) $24,352,951
Answer: A

U ATReS TS m S
aluelof ahtasser at thesendy

B L AR

cg»sﬁf‘z‘

rrv‘-ﬂafgv! e}

Nq,mﬁ Hy:&rrchas
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s':lzﬁ"

‘lf‘th%;

=1, 6 ﬁsyl;_o_ur

?;‘Va

4ﬁlawlaoo ..__L’__a_o_ou
.24 0 howrs

het 2 p-*-vur) ﬂ

10):G5sts 'E%”@?ﬁfg}féﬁ?ﬁifﬂ@j@b‘?ﬁhd-1:5“:&?@??63}1’7&\"
deprediatot forfth

A) $450,000
1B) $500,000
€):$250,000
D) $225,000
Answer: B.

e
Fudl
L

ot ot i “h t S e Y
fiEstyear ising the doubla:ds
atilioting

O 4 i, Havna

1 ‘;;@"ﬁé;é‘af’ :ri;f'{{fff“‘”’"’ F‘s;ﬁﬁiéﬁiis‘ed- ATp:
& TeSiduAlVARIE6E82,0007C0

feithe debrasiatis S
2 resicnal tf.‘,g,_.f»m somputet ea;ega"p&expenss-
the stra ggh;;lme d

RL LN

-~urst

A) $50,000-
B) $5,000

C) $12,500
D) $25,000
Answer: B

- ——
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So,000 - 2,00 9 o0
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a varymg amourit of deprec

NomthD

A isesithe i
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D 1, 465% 3600 =

5,994,000

@ L665” 5000
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1) WhiR SR tollowing 13 Aniexpense tesulang,
A) depletion

B) amortization:

C) depreciation

D) obsolescence

Answer: A
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A) copyright.

B) building .
C)land

D)-equipment-

Answer: A.

O v
A) natural resources
B) goodwill
C) patents, copyrights, trademarks
D) tangible property, plant, and equipment, other than land
Answer: C .

Lo W R s g Bleassets
A)plantand machmery

B) goodwill

C) building

D)land

Answer: B

17 TREpe of ihiangible Aeset related e He RS of on BT At ediAlS RNOWT a8
.A) goodwill,

B) a traderiark.
C) a copyright.
D) a patent.
Answer: C
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Chapter 11
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1) Whichiof:the following.is;a a‘charactenshc of:d’current lrabxhty?
A)ltis due within one year:or one operating cycle, whichever is longer.
B) Itis due within five years or, five:accounting periods, whichever is longer.
C) It is dize'within five years or five accounting périods, whichever is shorter.
D) It is due within one year or one operating cycle, whichever is shorter.
Answer: A )

B REenus ol Setediblt notyeteartied 16 Tecorded as:
A) Unéamed Re,venue.

B) Accrued Revenue.

C) Service Revenue.

D) Uncollécted Reveriue,

Answer:. A
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a4 » WD e xrpe

B) ux_]_der‘q_urrent liabilities
C) under-current assets
‘D) under long-term assets
Answer: B .
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A) a credit'to Note payable for $40,867  UJan30 Oer 1t Cosh  He °“‘4 . Q; Tom 30 NP - Ha,008
B) a credit to Cash for $40,000. NiP MR T poyyoile 659
C) a debit to Interest expense for $217 : Ink ép tse gt e 217

. . ] . Dee, 31 fo. 650
D) a debit to Intérest payable for $217 Inn P" oS!
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A) Note Payable '

B) Note Receivable

C) Interest Payable

D) Cash

Answer: A

DA RS kAmote payable a borrower
A) the principal plus interest.

B) the principal amount only:

C) the interest amount only.

D) the principal minus interest:

Answer: A




g
Slfpen NET

'A‘ ., R Y TS it brlf" ;
1 month'note;
bt N

eI A

A) $9, 479
B)$22,750 B¢ w0 * 837,
€)$11,375 " te
D) $7,583
Answer: C
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B) Wage‘
'C) Commission
D)Bonus,
Answer;: B
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A)in the same- penod that the company records the revenue related to that warranty

B) in the period prior-to which theicompany records the revenue related to that: ‘warranty.
'C) inrthe period after the related revenue is recorded..

D) in the contingent liabilities section of the balance sheet.

Answer: A
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